
Choose the correct item below : A , B or  C to complete the following text. 

 

      Ibn Rushd was a famous Islamic (1) ------------ who was born in Cordoba, Al-

Andalus, in the twelfth century. During his lifetime, he was widely (2) --------- and 

respected for his teaching and his books.  

      Even now, nearly nine hundred years after his birth, he is still remembered as a 

great scholar (3) ------  scientist and writer. In fact, he is even remembered in space 

because scientists named an asteroid (that’s a rock which orbits the sun) after him, in 

honour of his great contributions to (4) astronome. 

 

1- A. polymath. 

B. bolymath 

C. ploymath 

 
 

2- A. known  

B. knew 

C. knows 

 
 

3- A.  , 

B.  ; 

C.  ?  

 
 

4- The correct spelling of the misspelled underlined word is :  

A. astronomy 

B. astranomy 

C. astrunomy   



 Choose the correct item below : A , B or  C to complete the following text. 

1- There are many benefits of doing voluntary work --------- gaining new 

skills and developing the community. 

a. because  

b. such as 

c. and 

2- There are many ways to improve your English such as ---------- English 

novels as much as you can . 

a. read 

b. reads 

c. reading   

3- ------------- things should be done to keep fit such as reducing the amount 

of calories and doing regular exercise.  

a. There are many 

b. There is many 

c. There aren't any 
  

4- Qasir Bahir ------------- in Jordanian desert and it was constructed in the 

beginning of the 4th century.  

a. locates 

b. is located 

c. are located  
 

5- Mahmoud Darwish ----------- in 1942.  

a. is born 

b. born 

c. was born 

6- "There are not as  many students studying science  so  English."  

This sentence is grammatically: 

a. Correct  

b. Incorrect  
 

7- The popularity of English is ---------- while the popularity of music is the 

least.  

a. the less 

b. the more 

c. because  

d. the most 

  



Read the following text, and then choose the correct item for each queston.   
   

    In the future,(1)  because of the infrastructural changes that are happening 
constantly at the moment. To me, it seems that transport may will have changed a 
lot in one hundred years' time. 
 

      Perhaps there will be no more private transport by 2115 CE. It is 
possible that public transport will have improved so much that no 

one will need their own cars. (2) We might all be moving around in 

ecologically-sound electric buses and trams that will take us to our 

destinations smoothly! 
 

       (3) ------------ get to other countries, we will be taking airships, which will 

be like aeroplanes but with more facilities available. It will be possible 
to travel to the other side of the world in much less time, because 
these airships will race around at a far greater velocity. 
 

 

      Finally, modes of transport are always changing, depending on many 

different factors (4) ------ but one thing is certain; we will still be (5) travel the 

whole world! We might even be able to experience weightlessness by 

travelling to space! 

1- The function of the underlined linking word indicates :  

a. cause  

b. result 

c. opposition 
 

2- The rhetorical device that is used in the underlined sentence is : 

a. Simile 

b. Personification  

c. metaphor 

3- The correct linking word to fill the gap is :  

a. In order to 

b. In addition to 

c. However  
 

4- The correct punctuation mark to fill the gap is :  

a.  . 

b.  , 

c.  ? 
 

5- The correct verb form to replace the incorrect underlined verb is: 

a. travelling 

b. travels  

c. travelled 



Choose the correct item a , b  or  c .  

1-  The part of the report that tells the reader what the section will be about is 

the: 

a. Introduction 

b. Sub-heading 

c. Conclusion 
 

2- The language of the report is formal because :  

a. There are no contractions. 

b. The sentences are quite long. 

c. There are linking with relative pronouns. 

d. All of the above. 
  

3- "Some robots will look and sound very like humans, because technology 

will have advanced a great deal."  

The underlined rhetorical device represents : 
 

a. Simile 

b. Metaphor 

c. Personification 

 

4- "Despite the recent advances in technology, it is still unreliable and very 

inconvenient."  

The underlined linking word represents : 
 

a. Opposition 

b. Purpose 

c. Cause  

5- " ---------------------- provide information concerning participation in the arts in 
London, England. It will include factors which discourage people from taking 

part, and suggest ways to increase participation."  
 

a. The aim of this report is to 

b. It is recommended that  

c. It appears that    

 

6- " Finally, modes of transport are always changing, depending on many 

different factors, but one thing is certain; we will still be travelling the whole 

world! "  

This sentence represents: 
  

a. Introduction 

b. Conclusion  

c. Supporting paragraph  



7- We always begin the letter with :  
 

a. Dear ( name )  

b. Best wishes  

c. See you soon  
 

8- The phrase " Looking forward to hearing from you soon." is used to : 
  

a. end emails and letters. 

b. begin emails  

c. begin letters.  

 

9-  We can end emails and letters with:  Looking forward to --------- from you. 
 

a. hear 

b. hearing 

c. hears  

 

10- "The following advice about preparing for exams was given by our 

teacher. He should know – as he has taken so many of them in his life! He 

said, ‘It is not a good idea to study late at night."  

We use pronouns as ways to:  
 

a. link paragraphs or ideas. 

b. start new sentences . 

c. end sentences. 

 

11- When we write an informal letter we use : 
  

a. abbreviations instead of full forms. 

b. idioms and phrasal verbs.  

c. active rather than passive verbs  

d. all of the above 

 

12- Almost three-quarters of the population are regular users of local 

public transportation.   

This sentence represents : 
 

a. reporting information  

b. introduction  

c. conclusion 
 

13- In the discursive essay we explain in detail both sides of the 

discussion in the ----------. 

a. body 

b. introduction 

c. conclusion  



14- The descriptive essay should include : 
 

a. Rhetorical devices 

b. cite percentages  

c. recommendations 
  

15- In the blog post , the title you write should be : 
  

a. short and catchy 

b. short but not catchy 

c. neither short nor catchy 
   

16- The following paragraph is an example for a formal -----------    
  

I hope you will consider this letter when deciding the future of our 

school. Thank you. 

Yours sincerely, 

Nawal Mohsen   

 

a. sign-off  

b. greeting  

c. request 
 

17- The following greeting is appropriate for : 

Dear Mr Hammad, 

 

a. Formal letter 

b. Informal letter 

c. Emails 
 

   


